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Choose the correct answer.

Each question carries 1 Mark.

²Ì!“þ!Ýþ ²ÌöìÙÀîû ›y˜ 1Ð

1. Hindu beliefs include —

(A) Dharma and Artha

(B) Artha and Karma

(C) Dharma, Artha, Karma, Moksha

(D) Dharma and Moksha

1. !£¨% •öì›Åîû !îÙ»yöì¢îû xhsþ†Å“þ éôôôé

(A) •›Å ç xíÅ

(B) xíÅ ç „þ›Å

(C) •›Å– xíÅ– „þ›Å ç ö›yÇþ

(D) •›Å ç ö›yÇþ

2. Ahimsa, Satya, Acharya, Brahmacharya and Aparigraha are associated with —

(A) Hinduism

(B) Jainism

(C) Buddhism

(D) None of the above
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2. x!£‚¢y– ¢“þÄ– xy‰þëÅÄ– îÊáþ‰þëÅÄ ç xþ™!îû@ùÌ£ ö„þy˜ •öì›Åîû ¢yöìí ë%_« Ú

(A) !£¨% •›Å

(B) ÷‹˜ •›Å

(C) öîïkþ •›Å

(D) vþzþ™öìîûîû ö„þyöì̃ y!Ýþ£z ˜ëû

3. Tripitaka is —

(A) A collection of Mahavira’s teachings

(B) A collection of Buddhist teachings

(C) A collection of Lord Krishna’s teachings

(D) None of the above

3. !e!þ™Ýþ„þ £óœ éôôôé

(A) ›£yî#öìîûîû xy”öìŸÅîû ¢‚†,£#“þ @ùÌsþi

(B) öîïkþ•öì›Åîû xy”öìŸÅîû ¢‚†,£#“þ @ùÌsþi

(C) ¦þ†îy˜ „,þöì¡Œîû xy”öìŸÅîû ¢‚†,£#“þ @ùÌsþi

(D) vþzþ™öìîûîû ö„þyöì̃ y!Ýþ£z ˜ëû

4. Protestant and Catholic are two main groups of —

(A) Islam

(B) Hinduism

(C) Buddhism

(D) Christianity

4. þö²ÌyöìÝþÞÝþyrÝþ ç „þÄyí!œ„þ ö†yÛþ# ”%öìÝþy ö„þy˜ •öì›Åîû ¢yöìí ë%_« éôôôé

(A) £z¢œy›

(B) !£¨% •›Å

(C) öîïkþ •›Å

(D) !…ÊÞÝþy˜

5. Which of the following tribes are engaged with shifting cultivation ?

(A) Juang

(B) Santhal

(C) Agariya

(D) Birhor
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5. !˜öìÁ¬îû ö„þy ä̃ xy!”îy¢# ö†yÛþ# òòG%þ›éôé‰þy¡ìóó ²Ìíyëû „,þ!¡ì„þy‹ „þöìîû íyöì„þ Ú

(A) ë%ëûy‚

(B) ¢¤yç“þyœ

(C) xy†y!îûëûy

(D) !îîûöì£yvþü

6. Which of the following is an example of matrilineal society ?

(A) Khasi

(B) Oraon

(C) Gond

(D) Baiga

6. ›y“,þ“þy!sþf„þ ¢›y‹ !˜öìÁ¬îû ö„þy˜ xy!”îy¢#öì”îû ›öì•Ä ö”…y ëyëû Ú

(A) …y¢#

(B) ç¤îûyç

(C) ö†y¨

(D) ÷î†y

7. Changes in traditional family structure are taken place in India due to —

(A) Urbanization

(B) Industrialization

(C) Modernization

(D) All of the above

7. ¦þyîûöì“þ þ™!îûîyöìîûîû „þyàþyöì›y†“þ þ™!îûî“Åþöì̃ îû ‹˜Ä !˜öìÁ¬îû ö„þy˜!Ýþ ”yëû# Ú

(A) ˜†îûyëû’

(B) !ŸÒyëû’

(C) þxy•%!˜„þ#„þîû’

(D) vþzþ™öìîûîû ¢î=öìœy

8. Fundamental Rights are one of the basic principles of —

(A) Chinese constitution

(B) Indian constitution

(C) Both of the above

(D) None of the above
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8. !˜öìÁ¬îû ö„þy˜ ¢‚!î•yöì̃ îû ›öì•Ä òòö›ï!œ„þ x!•„þyîûóó ~„þ!Ýþ xyî!ŸÄ„þ !î¡ìëû Ú

(A) ‰þ#˜ ö”öìŸîû ¢‚!î•y˜

(B) ¦þyîû“þ#ëû ¢‚!î•y˜

(C) vþzþ™öìîûîû ”%öìÝþy ö”öìŸîû ¢‚!î•y˜£z

(D) vþzþ™öìîûîû ö„þy˜!Ýþ£z ˜ëû

9. Todas of Nilgiri mountain region practiced —

(A) Serial monogamy

(B) Fraternal polyandry

(C) Group Marriage

(D) None of the above

9. ¦þyîûöì“þîû ˜#œ!†!îû þ™y£yöìvþüîû öÝþyvþy vþzþ™‹y!“þöì”îû ›öì•Ä !˜öìÁ¬îû ö„þy˜ •îûöì’îû !îîy£îû#!“þ ²Ì‰þ!œ“þ Ú

(A) •yîûyîy!£„þ ~„þ†y›#“þy

(B) ¼y“,þîýþ™!“þc

(C) ö†yÛþ# !îîy£

(D) vþzþ™öìîûîû ö„þy˜!Ýþ£z ˜ëû

10. Which of the following is included in the Constitution of India for the interest of SCs,
STs and other weaker sections —

(A) Article 56 of the Indian Constitution

(B) Article 46 of the Indian Constitution

(C) Article 86 of the Indian Constitution

(D) None of the above

10. ˜#öì‰þîû ö„þy˜!Ýþ “þþ™!Ÿ!œ ‹y!“þ– þ“þþ™!Ÿ!œ vþzþ™‹y!“þ ç ”%îÅœ x‚öìŸîû ßþºyöìíÅîû ‹˜Ä ¦þyîû“þ#ëû ¢‚!î•yöì̃  xhsþ¦Å%þ_«
£öìëûöìŠé éôôôé

(A) ¦þyîû“þ#ëû ¢‚!î•yöì̃ îû 56 ˜‚ •yîûy

(B) ¦þyîû“þ#ëû ¢‚!î•yöì̃ îû 46 ˜‚ •yîûy

(C) ¦þyîû“þ#ëû ¢‚!î•yöì̃ îû 86 ˜‚ •yîûy

(D) vþzþ™öìîûîû ö„þy˜!Ýþ£z ˜ëû

11. Shia’s and Sunni’s are related with —

(A) Christianity

(B) Islam

(C) Hinduism

(D) Buddhism
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11. !¢ëûy ~î‚ ¢%!§¬ ö†yÛþ# ö„þy˜ •öì›Åîû ¢yöìí ë%_« Ú

(A) !…ÊÜTy˜

(B) £z¢œy›

(C) !£¨%•›Å

(D) öîïkþ•›Å

12. Mahavira was —

(A) 6th Tirthankara

(B) 12th Tirthankara

(C) 18th Tirthankara

(D) 24th Tirthankara

12. ›£yî#îû £óœ éôôôé

(A) ¡ìÛþ “þ#íÅBþîû

(B) my”Ÿ “þ#íÅBþîû

(C) xÜTy”Ÿ “þ#íÅBþîû

(D) ‰þ“%Åþ!î‚Ÿ “þ#íÅBþîû

13. “Sabla” is an initiative launched in 2012 associated with —

(A) Women’s empowerment

(B) S.C.’s and S.T.’s empowerment

(C) Minorities empowerment

(D) None of the above

13. òò¢yîœyóó 2012 ¢yöìœ †,£#“þ vþzöì”Äy† £óœ éôôôé

(A) ˜yîû#îû Çþ›“þyëû̃

(B) “þþ™!Ÿ!œ ‹y!“þ ç “þþ™!Ÿ!œ vþzþ™‹y!“þîû Çþ›“þyëû̃

(C) ¢‚…Äyœ‡%îû Çþ›“þyëû̃

(D) vþzþ™öìîûîû ö„þy˜!Ýþ£z ˜ëû
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14. Caste is —

(A) A polygamous group

(B) A exogamous group

(C) An endogamous group

(D) None of the above

14. ‹y!“þ £óœ éôôôé

(A) îý!îîy£„þyîû# ö†yÛþ#

(B) î!£Å!îîy£„þyîû# ö†yÛþ#

(C) xhsþƒ!îîy£„þyîû# ö†yÛþ#

(D) vþzþ™öìîûîû ö„þy˜!Ýþ£z ˜ëû

15. The concept of ‘parity and pollution’ is one of the basic features of —

(A) Hindu society

(B) Muslim society

(C) Jain society

(D) Christian society

15. òþ™!îe ~î‚ xþ™!îeó !î¡ìöìëûîû •yîû’y !˜öìÁ¬îû ö„þy ä̃ ¢›yöì‹îû ¢yöìí ë%_« Ú

(A) !£¨% ¢›y‹

(B) ›%¢œ›y˜ ¢›y‹

(C) ÷‹˜ ¢›y‹

(D) !…ÊÜTy˜ ¢›y‹

16. The existence of people of different races, religious beliefs and cultures within the same
society refers to —

(A) Secularism

(B) Communalism

(C) Pluralism

(D) Nationalism

16. ~„þ£z ¢›yöì‹ !î!¦þ§¬ ›y %̃öì¡ìîû ‹y!“þ– •›Å– !îÙ»y¢ ~î‚ ¦þyî•yîûyîû ¢›§ºëûöì„þ îœy £ëû éôôôé

(A) •›Å!˜îûöìþ™Çþ“þy

(B) ¢yÁ±”y!ëû„þ“þy

(C) îýcîy”

(D) ‹y“þ#ëû“þyîy”
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17. Which one of the following scheme is introduced by the Government of India for
eradicating rural poverty ?

(A) Atal Pension Yojona

(B) Deendayal Disabled Rehabilitation scheme

(C) MGNREGA

(D) None of the above

17. @ùÌy›#’ ”y!îûo ”)îû#„þîûöì’ !˜Á¬!œ!…“þ ö„þy˜ ²Ì„þÒ!Ýþ ¦þyîû“þ ¢îû„þyîû ²Ì‰þœ˜ „þöìîûöìŠé˜ Ú

(A) xÝþœ öþ™˜Ÿ˜ öëy‹˜y

(B) ”#˜”ëûyœ ²Ì!“þîõþ# þ™%̃ îÅy¢˜ þ™!îû„þÒ˜y

(C) MGNREGA

(D) vþzþ™öìîûîû ö„þyöì̃ y!Ýþ£z ˜ëû

18. Slums grow due to —

(A) Rural poverty

(B) Urban poverty

(C) Both of the above

(D) None of the above

18. Ÿ£öìîû î!hßþ †öìvþü vþzàþyîû „þyîû’þ £óœ éôôôé

(A) @ùÌy›#’ ”y!îûoÄ

(B) Ÿ£öìîûîû ”y!îûoÄ

(C) vþz¦þöìëû£z

(D) vþzþ™öìîûîû ö„þy˜!Ýþ£z ˜ëû

19. The Child Labour Prohibition and Regulation Act was passed in the year —

(A) 1996

(B) 1982

(C) 1986

(D) None of the above

19. !ŸÖ×› !˜öìîûy• xy£z̃  ö„þy˜ ¢yöìœ „þîûy £ëû Ú

(A) 1996

(B) 1982

(C) 1986

(D) vþzþ™öìîûîû ö„þy˜!Ýþ£z ˜ëû
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20. Youth unrest is usually characterised by —

(A) Public concern

(B) Change in the existing norms

(C) Collective discontent

(D) All of the above

20. ë%î x¢öìhsþyöì¡ìîû ÷î!ŸÜTÄ £óœ éôôôé

(A) ‹˜¢y•yîûöì’îû ‹˜Ä

(B) ²Ì‰þ!œ“þ îû#!“þ˜#!“þîû þ™!îûî“Åþ˜

(C) ¢‚†,£#“þ x¢öìhsþy¡ì

(D) vþzþ™öìîûîû ¢î„þ!Ýþ

21. All Assam Student Union Movement was associated with —

(A) Youth

(B) Child

(C) Old age

(D) None of the above

21. ¢îÅ xy¢y› Šéye £zvþz!˜ëû̃  xyöì̈ yœ˜ ¢‚ë%_« £óœ éôôôé

(A) ë%î

(B) !ŸÖ

(C) î,kþ

(D) vþzþ™öìîûîû ö„þy˜!Ýþ£z ˜ëû

22. Begining of old age set by WHO is —

(A) 70

(B) 65

(C) 55

(D) 60

22. WHO myîûy îy•Å„þÄ îëû¢ £óœ éôôôé

(A) 70

(B) 65

(C) 55

(D) 60
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23. Youth alienation is a —

(A) Social problem

(B) Psychological problem

(C) Political problem

(D) None of the above

23. ë%î !î!FŠé§¬“þy £óœ éôôôé

(A) ¢y›y!‹„þ ¢›¢Äy

(B) ›y˜!¢„þ ¢›¢Äy

(C) îûy‹÷ì̃ !“þ„þ ¢›¢Äy

(D) vþzþ™öìîûîû ö„þy˜!Ýþ£z ˜ëû

24. National Literacy Mission started by the Government of India in —

(A) 1998

(B) 1990

(C) 1988

(D) 1970

24. ¦þyîû“þ ¢îû„þyöìîûîû ‹y“þ#ëû ßþºyÇþîû“þy !›Ÿ˜ ö„þy˜ ¢yöìœ Öîû& £öìëû!Šéœ éôôôé

(A) 1998

(B) 1990

(C) 1988

(D) 1970

25. The National Population Policy come into force in —

(A) 1985

(B) 1998

(C) 2000

(D) None of the above

25. ¦þyîûöì“þ ‹y“þ#ëû ¢‚…Äy˜#!“þ ö„þy˜ ¢yöìœ ²Ìöìëûy† „þîûy £ëû Ú

(A) 1985

(B) 1998

(C) 2000

(D) vþzþ™öìîûîû ö„þy˜Ýþy£z ˜ëû
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26. Functional Literacy means —

(A) Teaching of reading and writing

(B) Ability to read only

(C) Ability to draw only

(D) None of the above

26. „þyëÅ!˜îÅy£# !ŸÇþyîû xíÅþ éôôôé

(A) ö„þîœ›ye !œ…öì“þ ç þ™vþüöì“þ þ™yîûy

(B) ö„þîœ þ™vþüöì“þ þ™yîûy

(C) ö„þîœ þx¤y„þöì“þ þ™yîûy

(D) vþzþ™öìîûîû ö„þy˜!Ýþ£z ˜ëû

27. Primary data refers to —

(A) Data collected first hand by researcher

(B) Data collected second hand by the researcher

(C) Both of the above

(D) None of the above

27. þ²Ìyí!›„þ “þíÄ £óœ éôôôé

(A) ßþºëû‚ †öìî¡ì„þ „þ“Å,þ„þ “þíÄ ¢‚@ùÌ£

(B) xöì̃ Äîû ¢‚†,£#“þ “þíÄ îÄî£yîû „þîûy

(C) vþzþ™öìîûîû ”%öìÝþy£z

(D) vþzþ™öìîûîû ö„þy˜!Ýþ£z ˜ëû

28. Quantitative research refers to —

(A) The systematic empirical investigation, quantitative properties and phenomena and
their relationship

(B) Exploratory research

(C) Both of the above

(D) None of the above

28. þ™!îû›y’†“þ †öìî¡ì’y îœöì“þ öîyGþyëû éôôôé

(A) ¢%¢‚îkþ x!¦þKþ“þyœ¸þ x %̃¢õþy˜– =’†“þ vþzþ™y”y˜ ~î‚ ‡Ýþ˜y ç “þyöì”îû ¢Á™„Åþ

(B) x˜%¢õþy˜›)œ„þ †öìî¡ì’y

(C) vþzþ™öìîûîû ”%£z!Ýþ

(D) ö„þy˜!Ýþ£z ˜ëû
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29. Participant observation method is used in —

(A) Qualitative research

(B) Quantitative research

(C) Both of the above

(D) None of the above

29. x‚Ÿ@ùÌ£’„þyîû# þ™ëÅöìîÇþ’ þ™kþ!“þ £óœ éôôôé

(A) =’†“þ †öìî¡ì’y

(B) þ™!îû›y’†“þ †öìî¡ì’y

(C) vþz¦þëû ”%!Ýþ

(D) ö„þy˜!Ýþ£z ˜ëû

30. Interview schedule is used in —

(A) Unstructured interview

(B) Structured interview

(C) Observation

(D) None of the above

30. ¢yÇþyê„þyîû x˜%¢)‰þ# îÄî£*“þ £ëû éôôôé

(A) x„þyàþyöì›y ¢yÇþyê„þyöìîû

(B) „þyàþyöì›y†“þ ¢yÇþyê„þyöìîû

(C) þ™ëÅöìîÇþöì’

(D) ö„þyöì̃ y!Ýþ£z ˜ëû

31. Applied research is conducted —

(A) To solve a practical social problem

(B) To gather theoretical knowledge

(C) All of the above

(D) None of the above

31. ²Ìyöìëûy!†„þ †öìî¡ì’y £ëû éôôôé

(A) ¢y›y!‹„þ ¢›¢Äy ¢›y•yöì̃ îû ‹˜Ä

(B) “þy!_́„þ Kþy˜ xy£îûöì’îû ‹˜Ä

(C) vþzþ™öìîûîû ”%!Ýþ

(D) ö„þy˜!Ýþ£z ˜ëû



P.T.O.

(  12  )

32. Tabulation is —

(A) Presentation of data in a tablar form

(B) Anslysis of data

(C) Both of the above

(D) None of the above

32. ¢yîû’#„þîû’ £óœþ éôôôé

(A) ¢yîû’# xy„þyöìîû “þíÄ vþzþ™ßþiyþ™˜ „þîûy

(B) “þíÄ !îöìÙÕ¡ì’ „þîûy

(C) vþzþ™öìîûîû ”%!Ýþ

(D) ö„þyöì̃ y!Ýþ£z ˜ëû

33. Social Survey is conducted —

(A) For collection of quantitative data

(B) For collection of qualitative data

(C) Both of the above

(D) None of the above

33. ¢y›y!‹„þ ¢›#Çþy „þîûy £ëû éôôôé

(A) þ™!îû›y’†“þ “þíÄ ¢‚@ùÌ£ „þîûy

(B) =’†“þ “þíÄ ¢‚@ùÌ£ „þîûy

(C) vþzþ™öìîûîû ”%!Ýþ

(D) ö„þy˜!Ýþ£z ˜ëû

34. Graphical presentation of statistical data is called —

(A) Tabulation

(B) Histogram

(C) Both of the above

(D) None of the above

34. þþ™!îû¢‚…Äy˜†“þ “þíÄ öœ…!‰þöìeîû ›y•Äöì› vþzþ™ßþiyþ™˜ „þîûyöì„þ îœy £ëû éôôôé

(A) ¢yîû’#„þîû’

(B) xyëû“þöìœ…

(C) vþzþ™öìîûîû ”%!Ýþ

(D) ö„þy˜!Ýþ£z ˜ëû
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35. Pie chart is —

(A) A circular statistical graphic divided into slides

(B) A bar chart

(C) Both of the above

(D) None of the above

35. î,_!‰þe £óœ éôôôé

(A) î,_#ëû þ™!îû¢‚…Äy˜†“þ öœ…!‰þe ëy !î…![þ“þ !î!¦þ§¬ x‚öìŸ

(B) hßþ½þ!‰þe

(C) vþz¦þöìëû£z

(D) ö„þy˜!Ýþ£z ˜ëû

36. A common test in research demands much priority on —

(A) Reliability

(B) Useability

(C) Objectivity

(D) All of the above

36. ~„þ!Ýþ ¢y•yîû’ þ™îû#Çþyëû †öìî¡ì’y ²Ìy•y˜Ä ö”ëû éôôôé

(A) !îÙ»y¢öìëy†Ä“þy

(B) îÄî£yîûöìëy†Ä“þy

(C) ÷˜îÅÄ!_«„þ“þy

(D) vþzþ™öìîûîû ¢î„þ!Ýþ

37. Which of the following variables cannot be expressed in quantitative terms ?

(A) Socio-economic status

(B) Marital status

(C) Numerical aptitude

(D) Professional aptitude

37. !˜öìÁ¬îû ö„þy˜ ‰þœ„þ!Ýþ þ™!îû›y’†“þ ‰þœ„þ ˜ëû Ú

(A) xyíÅéôé¢y›y!‹„þ xîßþiy

(B) ÷îîy!£„þ xîßþiy

(C) ¢‚…Äy†“þ ²Ìî’“þy

(D) öþ™Ÿy†“þ ²Ìî’“þy
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38. A research paper is a brief report of research work based on —

(A) Primary data only

(B) Secondary data only

(C) Both of the above

(D) None of the above

38. †öìî¡ì’yþ™e £öìFŠé ~„þ!Ýþ †öìî¡ì’y „þyöì‹îû ²Ì!“þöìî”˜ ëyîû !¦þ!_ £óœ éôôôé

(A) ö„þîœ›ye ²Ìyí!›„þ “þíÄ

(B) ö„þîœ›ye ö†ï’ “þíÄ

(C) vþz¦þöìëû£z

(D) ö„þy˜!Ýþ£z ˜ëû

39.  is a instrument used for collecting data in survey research.

(A) Questionnaire

(B) Schedule

(C) Both of the above

(D) None of the above

39.  !˜îû#Çþy›)œ„þ †öìî¡ì’yëû “þíÄ ¢‚@ùÌöì£îû ~„þ!Ýþ vþzþ™yëûÐ

(A) ²ÌÙÀ›yœy

(B) x˜%¢)‰þ#

(C) vþzþ™öìîûîû ”%!Ýþ

(D) ö„þy˜!Ýþ£z ˜ëû

40. Research is —

(A) Searching again and again

(B) Finding solution to any problem

(C) Working in a scientific way to search for truth of any problem

(D) All of the above

40. †öìî¡ì’y £óœ éôôôé

(A) x %̃¢õþy˜ ç þ™%̃ ƒx %̃¢õþy˜ „þîûy

(B) ö„þy˜ ¢›¢Äyîû ¢›y•y˜ …¤%öì‹ îyîû „þîûy

(C) ÷îKþy!˜„þ þ™sþiyëû ö„þy˜ ¢›¢Äyîû ¢“þÄ“þy ¢õþy˜ „þîûy

(D) vþzþ™öìîûîû ¢î„þ!Ýþ£z
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41. Which one is the feature of Buddhism ?

(A) Ideal life

(B) Salvation

(C) Rebirth

(D) All of the above

41. ˜#öì‰þîû ö„þy˜!Ýþ öîïkþ•öì›Åîû ÷î!ŸÜTÄ Ú

(A) xy”ŸÅ ‹#î˜

(B) !˜îÅy’

(C) þ™%̃ ‹Å§Ã

(D) vþzþ™öìîûîû ¢î„þ!Ýþ£z

42. Who has first used the word ‘secularism’ —

(A) Plato

(B) Weber

(C) Holyoake

(D) Aron

42. •›Å!˜îûöìþ™Çþ“þy Ÿ·!Ýþ ö„þ ²Ìí› îÄî£yîû „þöìîû̃  Úé

(A) ö²ÕöìÝþy

(B) çöìëûîyîû

(C) £!œç„þ

(D) xÄyîû̃

43. What is cultural mosaic ?

(A) Globalization

(B) Ethnicity

(C) Multiculturalism

(D) Communism

43. ¢y‚ßþñ,!“þ„þ ¢‚!›×’ !„þ Ú

(A) !îÙ»yëû̃

(B) ˜,„%þœ“þy

(C) îý¢‚ßþ,ñ!“þ

(D) ¢yÁ±”y!ëû„þ“þy
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44. Who gave the concept of ‘culture of poverty’ ?

(A) M. Weber

(B) T. Parsons

(C) O. Louis

(D) W. Miller

44. ”y!îûöìoÄîû ¢‚ßþ,ñ!“þîû •yîû’y ö„þ !”öìëûöìŠé˜ Ú

(A) ~›. çöìëûîyîû

(B) !Ýþ. þ™y¢Åª

(C) ç. œ%£z¢

(D) vþîÏ$. !›œyîû

45. What is the interval in which census is conducted in India ?

(A) 1

(B) 5

(C) 10

(D) 15

45. „þ“þ îŠéöìîûîû îÄî•yöì̃  ¦þyîûöì“þ xy”›¢%›yîû# / ‹˜†’˜y „þîûy £ëû Ú

(A) 1

(B) 5

(C) 10

(D) 15

46. Which one is the feature of urban society ?

(A) High density of population

(B) Division of labour

(C) Agricultural development

(D) Both (A) & (B)

46. ö„þy˜!Ý  ˜†îû ¢›yöì‹îû ÷î!ŸÜTÄ Ú

(A) x“þÄ!•„þ ‹˜‡˜c

(B) ×›!î¦þy†

(C) „,þ!¡ìîû vþz§¬ëû̃

(D) (A) ~î‚ (B) ”%!Ýþ£z
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47. What is the basis of language in India ?

(A) Multidimensional

(B) Unity

(C) Plasticity

(D) Diversity

47. ¦þyîûöì“þ ¦þy¡ìyîû !¦þ!_ !„þ Ú

(A) îý›y“,þ„þ“þy

(B) ú„þÄ

(C) ²Õy!ÞÝþ!¢!Ýþ

(D) ÷î!‰þeÄ

48. Which social problem is unique to urban areas ?

(A) Slums

(B) Electricity

(C) Illeteracy

(D) None of the above

48. ˜†îû ~œy„þyîû ö„þy˜ ¢›¢Äy!Ýþ x˜Ä“þ› Ú

(A) î!hßþ

(B) !î”%Äê

(C) !˜îûÇþîû“þy

(D) vþzþ™öìîûîû ö„þy˜!Ýþ£z ˜ëû

49. The new body of planning commission is —

(A) Niti Khetra

(B) Niti Ayog

(C) Five Year Plan

(D) None of the above

49. ²ÕÄy!˜‚ „þ!›Ÿöì̃ îû ˜î xîëûî £óœ éôôôé

(A) ˜#!“þ öÇþe

(B) ˜#!“þ xyöìëûy†

(C) þ™Mþéîy!¡ìÅ„þ# þ™!îû„þÒ˜y

(D) vþzþ™öìîûîû ö„þy˜!Ýþ£z ˜ëû
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50. Diffusion of urban culture is —

(A) Urbanness

(B) Urban traits

(C) Urbanization

(D) Urbanism

50. ˜†îû ¢‚ßþ,ñ!“þîû !îFŠ%éîû’ £óœ éôôôé

(A) ˜†îûc

(B) ˜†îû ¢‚ßþ,ñ!“þ

(C) ˜†îûyëû’

(D) ˜†îûîy”

____________
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Paper Code : II - B

(Marks : 100)

The figures in the margin indicate full marks.
Candidates are required to give their answers in their

own words as far as practicable.

Group - A

Answer any five questions from the following taking at least one from each section.
15×5=75

Section - I

1. What do you mean by other backward classes ? What are the constitutional provisions
for their development ? 5+10

2. Write a note on features, forms and social context of Hinduism in India. 15

3. Discuss on the changes in the structure of joint family. 15

Section - II

4. Discuss on poverty as a social problem. 15

5. Discuss illiteracy as a social problem in India. 15

6. Write a note on ‘unity and diversity’ in Indian context. 15

Section - III

7. Write a note on the similarities and differences between questionnaire and schedule. 15

8. Discuss various forms of observation as a method in social research. 15

9. Discuss steps of social research. 15

Group - B

Answer any five questions from the following taking at least one from each section.
5×5=25

Section - I

10. Discuss types of marriage.

11. What are the features of Islam ?

12. Discuss the problems of scheduled castes and tribes.

Section - II

13. What are the major features of caste system.

14. What is secularism ?

15. What are the major problems of Indian youth.
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Section - III

16. What are the features of face to face interview ?

17. What is experimental research ?

18. What is tabulation of data ?

îDy˜%îy”

!î¦þy† éôé „þ

!˜Á¬!œ!…“þ ö¢„þŸ˜=!œ öíöì„þ þ™¤y‰þ!Ýþ ²ÌöìÙÀîû vþz_îû !”öì“þ £öìîÐ

²Ìöì“þÄ„þ ö¢„þŸ˜ öíöì„þ „þ›þ™öìÇþ ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû !”öì“þ £öìîÐ 15×5=75

ö¢„þŸ˜ éôé 1

1Ð x˜Äy˜Ä x˜@ùÌ¢îû ö×’# îœöì“þ !„þ öîyGþ Ú “þyöì”îû vþz§¬ëûöì̃ îû ‹˜Ä ¢y‚!î•y!˜„þ îÄîßþiy=!œ „þ# „þ# Ú
5+10=15

2Ð ¦þyîûöì“þ !£¨% •öì›Åîû ÷î!ŸÜTÄ– •îû’– ¢y›y!‹„þ ö²Ì!Çþ“þ ¢Áºöìõþ öœöì…yÐ 15

3Ð ¦þyîûöì“þîû öëïí þ™!îûîyöìîûîû „þyàþyöì›yëû þ™!îûî“Åþ˜ ¢Áºöìõþ xyöìœy‰þ˜y „þöìîûyÐ 15

ö¢„þŸ˜ éôé 2

4Ð ”y!îûo“þy ~„þ!Ýþ ¢y›y!‹„þ ¢›¢Äy xyöìœy‰þ˜y „þöìîûyÐ 15

5Ð ¦þyîûöì“þ !˜îûÇþîû“þy ~„þ!Ýþ ¢y›y!‹„þ ¢›¢Äy !£¢yöìî xyöìœy‰þ˜y „þöìîûyÐ 15

6Ð ¦þyîû“þ#ëû ö²Ì!Çþöì“þ ò÷î!‰þeÄ ç ú„þÄó ¢Áºöìõþ xyöìœy‰þ˜y „þöìîûyÐ 15

ö¢„þŸ˜ éôé 3

7Ð ²ÌÙÀ›yœy ç ²ÌÙÀ“þy!œ„þyîû ›öì•Ä ¢y”,ŸÄ ç ÷î¢y”,ŸÄ=!œ xyöìœy‰þ˜y „þöìîûyÐ 15

8Ð ¢y›y!‹„þ †öìî¡ì’yîû þ™kþ!“þ !£öì¢öìî þ™ëÅöìîÇþöì̃ îû !î!¦þ§¬ îû*þ™ ¢Áºöìõþ xyöìœy‰þ˜y „þöìîûyÐ 15

9Ð ¢y›y!‹„þ †öìî¡ì’yîû hßþîû=!œ xyöìœy‰þ˜y „þöìîûyÐ 15

!î¦þy† éôé …

!˜Á¬!œ!…“þ ö¢„þŸ˜=!œ öíöì„þ þ™¤y‰þ!Ýþ ²ÌöìÙÀîû vþz_îû !”öì“þ £öìîÐ

²Ìöì“þÄ„þ ö¢„þŸ˜ öíöì„þ „þ›þ™öìÇþ ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû !”öì“þ £öìîÐ 5×5=25

ö¢„þŸ˜ éôé 1

10Ð !îîyöì£îû ²Ì„þyîûöì¦þ” xyöìœy‰þ˜y „þöìîûyÐ

11Ð £z¢œy› •öì›Åîû ÷î!ŸÜTÄ=!œ xyöìœy‰þ˜y „þöìîûyÐ

12Ð “þþ™!Ÿ!œ ‹y!“þ ç vþzþ™‹y!“þîû ¢›¢Äy=!œ xyöìœy‰þ˜y „þöìîûyÐ
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ö¢„þŸ˜ éôé 2

13Ð ‹y!“þ îÄîßþiyîû ÷î!ŸÜTÄ=!œ „þ# „þ# Ú

14Ð •›Å !˜îûöìþ™Çþ“þy !„þ Ú

15Ð ¦þyîûöì“þîû ë%î¢›yöì‹îû ¢›¢Äy=!œ „þ# „þ# Ú

ö¢„þŸ˜ éôé 3

16Ð ›%öì…y›%!… ¢yÇþyê„þyöìîûîû ÷î!ŸÜTÄ=!œ „þ# „þ# Ú

17Ð þ™îû#Çþy›)œ„þ †öìî¡ì’y „þyöì„þ îöìœ Ú

18Ð “þöìíÄîû / vþzþ™yöì_îû xyëû̃ #îkþ„þîû’ „þyöì„þ îöìœ Ú

____________


